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BASIC MECHANICAL ENGINEERING
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Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
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(i) NA% 597 & G 97T %1 FHEAR TF e 5T Hilord |
Solve all parts of a question consecutively together.

(iii) 4% %7 %! 74 78 & IRE] o |
Start each question on fresh page.

(iv) g1 qTaT3T F 3= g4 #1 IR 7 37 srgare @ e 8

Only English version is valid in case of difference in both the language.

=1 vl = gHeETs

Define the following terms :

(i) d=Fdn
Ductility
(i) Tifet Satt
Kinetic energy
(iii)) ¥FEAT
Viscosity
(iv) Yshar o=
Dryness fraction
(v) TAE-3gIE ;
Tension ratio ' (2%5)

el 1 ariieu HIR T Hiher Siger i e 6 gema @ gugrs |
Classify the boilers and explain Loeftler boiler with the help of diagram. (12)

(10f2) P.T.O.
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L () e e faft & frfed T @ feh o w1 we |

Name the different methods of lubrication and explain any one of them.
(i) g1 e | FATHET TTE Y U % T g e R |

Derive formulae to calculate centrifugal tension in belf derive. (6+6)
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4 () S R S o e % Tt e 1w |
Define heat and explain second law of thermodynamics.

(i) sl s ¥ i wearm i faf ffed |

Write method of experimental verification of Bernoulli’s theorem. (6+6)

5. (i) TR T i R <Y wETEar | HeE |
Explain centrifugal pump with the help of diagram.
(if) e afin T 1 o i wEwar 8 T |
Explain Pelton wheel turbine with the help of diagram. (6+6)

6. SITA-TF L 7 T T A $9 I ot < wETI & THAE |
What is diesel cycle ? Explain four stroke diesel engine with the help of diagram. (12)

7. () g m® o Fifremafores e gieor S hifT |
Derive characteristic gas equation for ideal gas. :
(i) 3T, I TE T e FHa w19 ) et v wgh g fefed |
Write the formulae of enthalpy and entropy for wet, dry & saturated and
superheated steam. (6+6)

8. wfym feurefi fafRad |

Write short note.
(i) A=
Venturimeter

(i) ST IFETEH
Boiler accessories
(iii) ETAeAT-HHHT
Continuity equation ; (4x%3)



